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Note: Answer all  questions from PART A and One question from PART B 
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 PART A   CO RBT 

1.a 

 

1. b 

  Define the following i)Sensitiveness (ii) Isochronism (iii)Hunting of governor     

     (iv)Effort of governor   

 Derive an expression for equilibrium speed of governor 
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1. c In a porter governor, the upper and lower arms are 200 mm and 250 mm respectively 

and pivoted on the axis of rotation. The mass of central load is 15 kg, the mass of each 

ball is 2 kg and friction of the sleeve together with the resistance of the operating gear 

is equal to a load of 24 N at the sleeve. If the limiting inclinations of the upper arms to 

the verticals are 30 and 40. Find the range of speed taking friction in to account. 
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2 A shaft carries four masses A. B. C. and D of magnitude 200kg. 300kg. 400kg and 

200kg respectively and revolving at radii 80mm, 70mm. 60mm and 80mm in planes 

measured from A at 300mm. 400mm and 700 mm. The angle between the crank 

measured anticlockwise are A to B 45°. B to C 70° and C to D 120° the balancing 

masses are to be placed in planes X and Y. The distance between the planes A and X is 

100mm between X and Y is 400mm and between Y and D is 200mm. If the balancing 

planes revolved at a radius of 100mm find their magnitudes and angular position. 
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PART B 

3  

In a spring loaded Hartnell type governor, the extreme radii of rotation of the balls are 

80mm and 120mm. The ball and sleeve arms of the bell crank lever are equal in 

length. The mass of each ball is 2kg. If the speeds at the two extreme positions are 400 

and 420rpm. Find: i) Stiffness of the spring; ii) Initial compression of the spring. 
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OR 

4 Four masses 150, 250, 200 & 300kg are rotating in same plane at radii of 0.25m, 0.2m, 

0.3m and 0.35m respectively. These angular locations are 40, 120 & 250 from mass 

150kg respectively measured in counter clockwise direction. Find the position and 

magnitude of balance mass required, if its radius of rotation is 0.25m. 
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